Tableaux des Puissances de Dix (D)

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 0,01 1000 10 000 10

1,64

3,02

2,47

9,04

7,73

X 1000 0,0001 100 0,1

9,91

2,03

6,64

5,67

7,75

= 0,0001 100 0,1 1 000

1,46

2,67

5,72

4,26

8,58

= 0,01 0,0001 1000 10

6,19

2,59

3,42

4,12

1,87
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Tableaux des Puissances de Dix (D) Solutions

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 0,01 1000 10 000 10
1,64 0,0164 1640 16 400 16,4
3,02 0,0302 3020 30 200 30,2
2,47 0,0247 2470 24700 24,7
9,04 0,0904 9 040 90 400 90,4
7,73 0,0773 7730 77 300 77,3

X 1000 0,0001 100 0,1
9,91 9910 0,000991 991 0,991
2,03 2030 0,000203 203 0,203
6,64 6 640 0,000664 664 0,664
5,67 5670 0,000567 567 0,567
7,75 7 750 0,000775 775 0,775

+ 0,0001 100 0,1 1000
1,46 14 600 0,0146 14,6 0,00146
2,67 26 700 0,0267 26,7 0,00267
5,72 57 200 0,0572 57,2 0,00572
4,26 42 600 0,0426 42,6 0,00426
8,58 85800 0,0858 85,8 0,00858

+ 0,01 0,0001 1 000 10
6,19 619 61 900 0,00619 0,619
2,59 259 25900 0,00259 0,259
3,42 342 34 200 0,00342 0,342
4,12 412 41 200 0,00412 0,412
1,87 187 18 700 0,00187 0,187

MathsLibres.com




